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QUESTION 1

Which five are the required parameters to launch an instance in Oracle Cloud Infrastructure? (Choose five)
A. subnet

B. Availability Domain

C. Virtual Cloud Network

D. host name

E. instance shape

F. image operating system

G. private IP address

Correct Answer: ABCEF

Reference: https://docs.cloud.oracle.com/iaas/Content/Compute/Concepts/computeoverview.htm

QUESTION 2

Within your tenancy you have a compute instance with a boot volume and a block volume attached. The boot volume
contains the OS and the attached block volume contains the instance\\'s important data. Logs on the boot volume have
filled the boot volume and are causing issues with the OS.

What should you do to resolve this situation?

A. Stop the instance that is full. Create a manual backup of the block storage before making changes. Detach the block
volume, create a new instance of the same shape with a larger custom boot volume and attach the block volume to the
new instance. Configure the OS and any related application(s) to access the block volume under the same mount point
as before.

B. Create a new instance with a larger boot volume size as well a new block volume which is the same size or larger
than the one attached to the full instance. rsync the state of the boot volume and the state of the block volume between

the two instances.

C. Detach the block volume from the full instance. Create a new instance of the same shape with a larger boot volume
and rsync the state of the boot volume between the instances. Attach the block volume to the new instance.

D. Create a manual backup of the block storage instance. Create a custom image of the full instance. Once that
completes deploy the custom image to a new instance.

Correct Answer: B

QUESTION 3

A customer wants to do development on premise while leveraging services such as Java Cloud, Mobile Developer
Cloud, and App Builder Services. The customer would also like to scale out the application, stretching from on-premises
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to the cloud by using a common API.

Which two Infrastructure options can the customer leverage to do this? (Choose two.)
A. Oracle Cloud at Customer

B. Oracle Cloud Infrastructure Classic

C. Oracle Cloud Ravello service

D. Oracle Cloud Infrastructure

Correct Answer: AD

QUESTION 4

When deploying a highly available, Internet-facing, 2-tier web application on Oracle Cloud Infrastructure (OCI), which
design option would you use?

A. Deploy all web servers into one Availability Domain and behind a public load balancer, and deploy two single-node
OCI database systems in the same Availability Domain with Data Guard enabled.

B. Deploy all web servers into multiple Availability Domains and behind a public load balancer, and deploy two single-
node OCI database systems across two Availability Domains with Data Guard enabled.

C. Deploy all web servers into multiple Availability Domains and behind a private load balancer, and deploy two single-
node OCI database systems across two Availability Domains with Data Guard

enabled.

D. Deploy all web servers into one Availability Domain, and deploy a single-node OCI database system into a different
Availability Domain.

Correct Answer: B

QUESTION 5

You are running your warehouse using Autonomous Data Warehouse (ADW) service and you noticed that a newly
configured batch job is always running in serial even through nothing else is running in the database. All your jobs are
configured to run with parallelism enabled.

What could be the reason for this batch job to run in serial?

A. The batch job depends on only one table and parallelism cannot be enabled on single-table queries.

B. The parallelism of batch job depends on the number of ADW databases involved in the query.

C. The new batch job is connected to LOW consumer group.

D. The new batch job runs on database tables that are not enable for parallel execution.

E. Parallelism on the database is controlled by the application, not the database.
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Correct Answer: C

QUESTION 6

You have been tasked with creating one virtual cloud network (VCN) each for two line of business (LOB) applications.
LOB A and LOB B will need to communicate with each other. To ensure that you can utilize VCN peering, which
network CIDR ranges should be used?

A. VCN A (10.0.0.0/16) and VCN B (10.1.0.0/16)

B. VCN A (10.0.2.0/16) and VCN B (10.0.2.0/25)

C. VCN A (10.0.0.0/16) and VCN B (10.0.16.0/24)

D. VCN A (172.16.0.0/24) and VCN B (172.16.0.0/28)

Correct Answer: A

QUESTION 7

Where do you find the thsnames.ora for your Autonomous Data Warehouse (ADW) database?

A. You can download tnsnames.ora from Oracle Cloud Infrastructure web console under ADW details page
B. The tnsnames.ora file is included in credentials.zip file that you download from service console of ADW
C. The ADW database will place the tnsnames.ora file in an object storage bucket

D. You are automatically prompted to download the tnsnames.ora file upon creation of the ADW database

Correct Answer: C

QUESTION 8

Which storage would you use if your big data workload requires shared access and an NFS based interface?
A. File Storage

B. Storage Software Cloud Appliance

C. Object Storage

D. Archive Storage

E. Block Volume

Correct Answer: A

Reference: https://docs.cloud.oracle.com/iaas/Content/File/Concepts/filestorageoverview.htm
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QUESTION 9

You are planning to deploy a multi-region web application in Oracle Cloud Infrastructure (OCI). You have
customers in North America, Asia and Europe who will access the application.

What service is available in OCI to help you choose the regions the lowest latency to these markets?

A. Internet Intelligence

B. FastConnect

C. IPsec VPN

D. DNS Zone Management

Correct Answer: A

QUESTION 10

You have created a virtual cloud network (VCN) with three private subnets. Two of the subnets contain application
servers and the third subnet contains a DB System. The application requires a shared file system so you have
provisioned one using the file storage service (FSS). You also created the corresponding mount target in one of the
application subnets. The VCN security lists are properly configured so that both application servers and the DB System
can access the file system. The security team determines that the DB System should have read-only access to the file
system. What change would you make to satisfy this requirement?

A. Create an NFS export option that allows READ_ONLY access where the source is the CIDR range of the DB System
subnet.

B. Connect via SSH to one of the application servers where the file system has been mounted. Use the Unix command
chmod to change permissions on the file system directory, allowing the database user read only access.

C. Modify the security list associated with the subnet where the mount target resides. Change the ingress rules
corresponding to the DB System subnet to be stateless.

D. Create an instance principal for the DB System. Write an Identity and Access Management (IAM) policy that allows
the instance principal read-only access to the file storage service.

Correct Answer: C

QUESTION 11

You have created a public subnet in a VCN, and your public subnet has a Route Table, a Security List, and an Internet
Gateway. However, none of the compute instances can connect to the Internet.

Which two are possible reasons for the connectivity issue? (Choose two.)
A. There is no Dynamic Routing Gateway (DRG) associated with the VCN.
B. The Route Table has no default route for routing traffic to the Internet Gateway.

C. There is no stateful ingress rule in the Security List associated with the public subnet.
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D. There is no stateful egress rule in the Security List associated with the public subnet.

Correct Answer: AC

QUESTION 12

Which two statements are true about Database Cloud Service (DBCS)? (Choose two.)
A. Data Guard as a Service is offered among regions.

B. You have full control over backup schedule and retention.

C. You can manage Oracle parameters at a global system level.

D. You cannot manage the database as sys/sysdba.

Correct Answer: AB

Reference: https://cloud.oracle.com/iaas/database/faq

QUESTION 13

Which two configuration formats does Terraform support? (Choose two.)
A. YAML

B. JSON

C. HCL

D. XML

Correct Answer: BC

Reference: https://docs.cloud.oracle.com/iaas/Content/API/SDKDocs/terraformconfig.htm

QUESTION 14

Which statement is true about a pre-authenticated request in Oracle Cloud Infrastructure Object Storage?
A. You can create only 1, 000 pre-authenticated requests per bucket.

B. You can create a pre-authenticated request only for public buckets.

C. You cannot retire a pre-authenticated request before it expires.

D. You cannot extend the expiration date on a pre-authenticated request.

Correct Answer: D

Reference: https://cloud.oracle.com/storage/object-storage/faq
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QUESTION 15

Which three are capabilities of the dbaascli utility? (Choose three.)
A. Patching the primary database deployment

B. Open port 1521 in the VCN to allow for traffic to the listener

C. Start and open the database instance

D. Switchover and failover in an Oracle Guard configuration

E. Clone a DB

Correct Answer: ACD
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